SISCER Survival Analysis


Name: ________________________
Quiz 3
For the log-rank tests we discussed in class, (circle the correct answer): 

1. Log-rank tests can be used to test the equality of 
1) Survival functions 

2) Hazard functions

3) Density functions

4) All of them

2. If the log-rank test statistic you calculate is NOT significant with a type-I error of 5%, what would you conclude?
1) Hazard functions are constant
2) Fail to reject that survival functions are equal 
3) There may be cross-overs between two hazard functions
4) We need larger sample size to get a significance
3. If the log-rank test statistic you calculate is significant with a p-value of 0.01, this implies there is compelling evidence to show that 
1) Hazard functions are not constant
2) Survival functions are not equal

3) Hazard functions are proportional

4) There is a chance of 1% that survival functions are equal
Keys: 4, 2, 2
